PARTS LIST / LISTE DES PIECES / LISTA DE PIEZAS

ITEM NO. / ARTICLE NO. / ARTICULO NO : DS-D449-650-1
DESCRIPTION / DESRIPCION : GRID TUFT HB/BENCH-GLACIER / TETE DE LIT + BANC / CABECERA + BANCO

x1 Headboard Panel
x1 Téte de lit
x1 Panel de cabecera

0

®

x8 Spring washer *
x8 Rondelle a ressort
x8 Arandela auto bloqueante

Qg‘

®

x1 Open Wrench *
x1 Clé a fourche
x1 Llave de boca

x1 Headboard Right leg *
x1Pattes de la tete de lit (droite)
x1 Pattas de cabecera (derecha)

®

x8 Bolt m8 x 60mm *
x8 Boulon m8 x 60mm
x8 Perno m8 x 60mm

S

©

x1 Headboards Left leg*
x1 Pattes de la tete de lit (gauche)
x1 Pattas de cabecera (Izquierda)

No!

x4 Hex nut *
x4 Ecrou hexagonal
x4 Tuerca hexagonal

®

x12 Flat washer *
x12 Rondelle plate
x12 Arandela plana

ﬁ

®

x1 Allen key M5 *
x1 Cle hexagon ale M5
x1 Llave Allen M5

*
Replaceable Part

Page1 of 5

Made in Malaysia /Fabriqué au Malaisie /Hecho en Malasia
For assembly instruction video, please go to : www.myfurnitureinstruction.com



PARTS LIST / LISTE DES PIECES / LISTA DE PIEZAS
ITEM NO. / ARTICLE NO. / ARTICULO NO : DS-D449-650-1
DESCRIPTION / DESRIPCION : GRID TUFT HB/BENCH-GLACIER / TETE DE LIT + BANC / CABECERA + BANCO

> N

\ @)nmmnnm

© ™~ @
x1 Seat x2 Right leg * x2 Left leg * x8 Bolt m8 x 50mm *
x1 Siege x2 Patte de droite x2 Patte de gauche x8 Boulon m8 x 50mm
x1 Asiento x2 Pata derecha x2 Pata lzquierda x8 Perno m8 x 50mm
@ ﬁ
x8 Flat washer * x8 Spring washer * x1 Allen key M5 *
x8 Rondelle plate x8 Rondelle a ressort x1 Cle hexagon ale M5
x8 Arandela plana x8 Arandela auto bloqueante x1 Llave Allen M5
*
Replaceable Part
Page2 of 5 Made in Malaysia /Fabriqué au Malaisie /Hecho en Malasia

For assembly instruction video, please go to : www.myfurnitureinstruction.com



ASSEMBLY INSTRUCTION / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAJE
ITEM NO. / ARTICLE NO. / ARTICULO NO :DS-D449-650-1
DESCRIPTION / DESRIPCION : GRID TUFT HB/BENCH-GLACIER / TETE DE LIT + BANC / CABECERA + BANCO

Step 1 /Etape 1 /Paso 1

*** Metal rail frame (not include)

Cadre de rail en métal (non inclus)
Bastidor de riel de metal (no incluido)

Page3 of 5 Made in Malaysia /Fabriqué au Malaisie /Hecho en Malasia
For assembly instruction video, please go to : www.myfurnitureinstruction.com



ITEM NO. / ARTICLE NO. / ARTICULO NO :DS-D449-650-1

ASSEMBLY INSTRUCTION / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAJE
DESCRIPTION / DESRIPCION : GRID TUFT HB/BENCH-GLACIER / TETE DE LIT + BANC / CABECERA + BANCO

Step 2 /Etape 2 /Paso 2 Step 3 /Etape 3 /Paso 3

Page4 of 5 Made in Malaysia /Fabriqué au Malaisie /Hecho en Malasia
For assembly instruction video, please go to : www.myfurnitureinstruction.com



REPLACEABLE PART / PARTIE REMPLACABLE / PARTE REEMPLAZABLE
ITEM NO. / ARTICLE NO. / ARTICULO NO :DS-D449-650-1
DESCRIPTION / DESRIPCION : GRID TUFT HB/BENCH-GLACIER / TETE DE LIT + BANC / CABECERA + BANCO

4

x1 RD449-650-HLEGR Headboard Right leg ™ x1 RD449-650-HLEGL Headboard Left legs * X2 RD449-650-LEGR  Chair Right Leg *
Pattes de la tete de lit droite Pattes de |a tete de lit gauche Chaise jambe droite
Pattas de cabecera derecha Pattas de la cabecera Izquierda Silla de la pierna derecha

x2 RD449-650-LEGL Chair Left Leg * x1 RD449-650-HWKIT Hardware kit list *
Chaise Jambe Gauche Liste des piéces de quincaillerie
ﬂ Silla de la pierna izquierda Lista del kit de materiales
*
Replaceable Part
Page5 of 5 Made in Malaysia /Fabriqué au Malaisie /Hecho en Malasia

For assembly instruction video, please go to : www.myfurnitureinstruction.com



	__LAPTOP-HU63UTC6_Intergo file(UPDATED)_Production_Bench (bed+bench)_DS-D449-650-1_ITG 2019B + ITG 182B A.I (T1) (1)
	__LAPTOP-HU63UTC6_Intergo file(UPDATED)_Production_Bench (bed+bench)_DS-D449-650-1_ITG 2019B + ITG 182B A.I (T1) (2) (1)
	__LAPTOP-HU63UTC6_Intergo file(UPDATED)_Production_Bench (bed+bench)_DS-D449-650-1_ITG 2019B + ITG 182B A.I (T3) (1)
	__LAPTOP-HU63UTC6_Intergo file(UPDATED)_Production_Bench (bed+bench)_DS-D449-650-1_ITG 2019B + ITG 182B A.I (T4) (1)
	__LAPTOP-HU63UTC6_Intergo file(UPDATED)_Production_Bench (bed+bench)_DS-D449-650-1_ITG 2019B + ITG 182B A.I (T5) (1)

